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WHERE AM 1?2

When Mariam was on holiday, she found a room that had no floor or ceiling
and no windows or doors. What type of room did she find?

# Work out each of these and write the answer. Find the answers in the grid
below and cross out the letter above. Write the remaining letters at the bottom

of the page.

Write the

remaining |etters
in order from the
% fo the botftom-

2
. right corner.
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SPACE HOPPING

¥ Help the astronaut reach the rocket safely. Work out and write the product for each
moon. Use a green pencil to colour the products that have O in the ones place.
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a. .
Each roller coaster car carries 4 people.

There are 20 people waiting in line.

How many cars will be filled?

" LO crates of oranges are shared equally
among 5 stores.

How many crates will each store receive?
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IT’S DELIVERY TIME AGAIN

# These parcels need to be sorted into the correct vans. Work out and write each
answer. Then colour each parcel to match the van with the same answer.

rcels?

Which city will
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Number of votes

a. Population 23 156
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